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e g To produce 5000 lay of FG we need

mat A 1500kg 31kg
B 200kg 5 19
C 2000kg 2119
D 4 kg
total

Actual output is 25000 lay

consumption is that A 7900 has 3 20 lay
B 2900 kg 4.9 lay
C 10900 lay 2061kg
D to 3.95119

Ans
Input output Input output

Std Ratio 6100 5000 6100 5000

Actual 350
18202
statue

2000

of RM

calculation of material cost variance

material so Est 9 St sin

A 7500 3 7900 3.2 7746

B 3500 5 2900 4.9 3615

c 10,000 2 10,900 2.6 10,328
D

Iff's



MCV Std Cost Actual cost

98,000 106540

8540 A

Analysis of MCV

Particulars I

Material Price variance
Std Rate Actual Rate AQ

A 3 3 2 1 A

B I 5 4.9 Fl

C 2 2.6 1 A

1 4 3.95 Is 73401171

Material usage variance

SQ AQ SR

A 3

B C 1 5
C I 1 2

D 4 1200 AI

Sub Analysis of material usage variance

particulars

1 Material yield variance
Std Yield Actual Yield Innit



C I
25,820 25000 3.92 3214 40 A

2 Material mix variance

EM AM SR

A 7746 7900 3 A1
B 3615 2900 1 5 Fl
C 10328 10,900 1 2 A

Is 2013CHC

too

MYX SQ SM SR

A 7500 7746 3 738 A1

B 3500 36151 5 575 A1
C 10000 103281 2 656 A

D 9500 9811 4 12441hL 3213117

WI stt Cost of material SCM Per unit of FC

Std Cost for Actual output
Actual output

3 92 19

9 actuate
in Actual
Ratio

m y Imx
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IT
i.sk unit 128

300 unit
Actual 0H I 14,25000 C
Actual output 4300 units

Absorbed OH AftY skunit
08 Std OH

4300 300

1290,000
Folt Cost varianie Absorbed OH Actual OH

1290,000 1425000

135,000 A

FOH Expenditure var
t

FOH volume vtariance
Bus OH Actual OH Skunit Afyon_BOY
1200,000 14,25000

300 4300 4000225000 A

20.94 4300 units

90,000 F



NOV 2023 Q 5 a

Budgeted variable OH 84000 units 16 unit
1344,000

Budgeted Hours 84000 units 0.80 Hrsunit
67,200 Hrs

Std Rate of overheats

variable on Fixed 0H

per Hour 13
95

20 Hour 10 Hour

per unit 13.44.000 6,72000
84000 84000

16 unit 8 unit

r r r

variable 0H

efficiency variance
8 8TH x Sknit
w we

67200 A x 87600 16

67200 162 1401600
67200 162 1401600

se 91800 Units

t.SE pinAdtfs 91800 units

Hrs units
0080 I

Ñ g

91800



Actutil Hours
Std Hours for Actual output 8,29 0.80

70080 Hrs

var 0H

efficiency was Es SHour

67200 A 70080 n 20

67200 14,01 600 202

x 73,440 Hrs

i variable 0H Expenditure variance

SR Hour Actual RateHour AYLY

20 1
35 3440

20 19.56 73440

31800 CFI
Iil Fixes on Expenditure variance

Budgeted OH Actual OH

672000 705000

33000 A

iii Fixes on Efficiency variance
Std Hrs Act Hrs x SR Hour

70,080 73,440 10

33600 A

Iv Fixes on capacity variance



Actual Hours Budgeted Hrs x SR Hour

73440 67200 10

62400 F

Budgetes Std

Hrs Hrs Hrs

67200 73440 70080

Capacity AH BH SRHour Efficiency SH AH SR Hr

Control Ratio's

Efficiency Ratio stf.cl ffsAct too

Actu output 100
Std output0

f in Act Has

Capacity Ratio A
ff 100

1013
100

Activity Ratio fff.FI 100
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Efficiency
Ratio

100

Calendar
ratio 85 100 IIIII too

Capacity Ratio 100

Std tapacity Actual Action usage
usage Ratio capacity usage Ratio of BudgeterCapacit

e 8B 100
f
100 off 100

Activity Ratio
no

100

Profitability statement under SH costing

Particulars

Actual sales

Less standard cost of sales Idt
Standard Profit

Add Favourable cost variance
Less Adverse cost variance

Add Favourable sales variance

Less Adverse sales variance



Actual Profit


